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Candidate Name Assessment Name
Set Code Candidate Id

Mobile Number

* Correct Answer is in Bold and slightly bigger
* Candidate selected option is Underlined

General English

2894947 Select the antonym of the underlined word from the given sentence.
The notorious bandits managed to escape from prison.

Score Obtained : -0.25/1.0

A) lll-famed
B)_Infamous
C) Rapscallion

D) Inconspicuous

Q2894953 ldentify the compound sentence among the following:
Score Obtained : 1.0 / 1.0
A) That bag is mine.

B) We stayed in Mumbai for a year.
C) We stayed up all night.

D)_We locked the door and switched off the lights.

Q2894964 Select the synonym for the word given below.
Precocious

Score Obtained : -0.25/ 1.0

A) Passive
B) Altricious

C) Intelligent
D)_Serotinous

Q2894944 Fill in the blank with a suitable conjunction:
| could not go to the movies I had too much work.

Score Obtained : 1.0/ 1.0
A) before
_B)_because
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C) until
D) and

Q2894977 Choose the correct sentence that is in the direct speech of the given sentence.
The judge commanded them to call the honest witness.

Score Obtained : 1.0/ 1
A) The judge said, "call the honest witness"

B) The judge commanded to call the honest witness.
C) The judge said call the honest witness.

D)_"Call the honest witness," said the judge.

Q2895328 Select the right preposition to fill in the blank:
In the classical age, the ideal life of a Brahmin was divided four stages of ashram.

Score Obtained : 1.0/ 1

A)_into
B) in
C) for
D) of

02894667 Choose the correct option to fill in the blanks:
| to attend your birthday party.

Score Obtained : -0.25 /1

A) had hoped
B)_will hope

C) will be hoping
D) have hope

Q2894955 Identify the compound sentence among the following:
Score Obtained : 1.0/ 1
A) My aunt has brought many gifts for us.

B) Check all your belongings before you leave the station.
C) The procession was held up because of the rain.

D)_Please return the book on time, or you will have to pay a fine.

Q2895580 Persuasion is the art of convincing someone to agree with your point of view. According to the ancient
Greek philosopher Aristotle, there are three basic tools of persuasion: ethos, pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An audience will consider a speakel
credible if she seems trustworthy, reliable, and sincere. This can be done in many ways. For example, a speaker can
develop ethos by explaining how much experience or education she has in the field. After all, you would be more
likely to listen to advice about how to take care of your teeth from a dentist than a firefighter. A speaker can also
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create ethos by convincing the audience that she is a good person who has their best interests at heart. If an audience
cannot trust you, you will not be able to persuade them.

Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker who is trying to
convince an audience to vote for him might say that he alone can save the country from a terrible war. These words
are intended to fill the audience with fear, thus making them want to vote for him. Similarly, a charity organization
that helps animals might show audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity. If the audience feels bad for the animals, they will be more likely to donate money.

Logos is the use of facts, information, statistics, or other evidence to make your argument more convincing. An
audience will be more likely to believe you if you have data to back up your claims. For example, a commercial for
soap might tell you that laboratory tests have shown that their soap kills all 7,000,000 of the bacteria living on your
hands right now. This piece of information might make you more likely to buy their brand of soap. Presenting this
evidence is much more convincing than simply saying “our soap is the best!” Use of logos can also increase a
speaker’s ethos; the more facts a speaker includes in his argument, the more likely you are to think that he is
educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when they are used together.
Indeed, most speakers use a combination of ethos, pathos, and logos to persuade their audiences. The next time you
listen to a speech, watch a commercial, or listen to a friend try to convince you to lend him some money, be on the
lookout for these ancient Greek tools of persuasion

Q2895583 The audience will believe the logos speaker if
Score Obtained : 0.0/ 1.0
A) fearis developed in the audience's minds by him

B) he proves he is a good person by heart

C) he convinces the audience with his experience

D) he has a data to back up his claims

Q2895584 The audience does not get persuaded by a speaker if-
Score Obtained : 0.0/ 1.0
A) he cannot make them extremely emotional

B) the speaker does not have a proper position
C) he does not rouse their sympathy

D) they don't trust him

(02895581 According to the passage, a person can develop ethos by

Score Obtained : 0.0/ 1.0

A) explaining to the audience that she is experienced

B) trying to be trustworthy even if she is not

C) relying on the audience's sincerity more than her own experience
D) confusing the audience with her expertise

(02895585 A commercial about a dentist recommending a dental cream uses a combination of-
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A) Only pathos

B) ethos, pathos and logos
C) Only ethos
D) Only logos

(2895582 Which of the following can be a good example of pathos?

Score Obtained : 0.0/ 1.0

A) a general physician advising a patient suffering from eye problems
B) a businessman giving proof of the authenticity of his product

C) a social worker showing slides on child labour problems

D) avegetable seller showing fresh vegetables brought from the farm

Q2894783 Change the voice of the following sentence: Pay attention to pronunciation and syntax for Fluency.
Score Obtained : 0.0/ 1.0

A) Fluency can be achieved by paying attention to pronunciation and syntax.
B) You must pay attention to fluency and syntax, if you want fluency.

C) Fluency developing needs paying attention to pronunciation and Syntax.

D) You pay attention for fluency to syntax and pronunciation.

Q2895038 The oppressed and the oppressor alike are robbed of humanity.
Score Obtained : 1.0/ 1.0

A) one's
B)_their
C) his

D) their's

Q2895334 Fill the blank with the correct option
Do not talk yourselves.

Score Obtained : -0.25/1.0

A) for
B) on
C) among

D)_with

02894662 Fill in the blanks with the correct form of verb:

Breakfast cereals with vitamins.
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A) are enriched

B) has been enriched
C) is enriching
D)_enrich

Q2894927 Which of the segment(s) has/have errors: [a] When a student encountered a study material after ¢
long gap,[b] they have difficulty in engaging with it again, [c] but this extra effort of relearning the forgotten
information [d] will boosts learning.

Score Obtained : 0.0/ 1

A) c&d
B) c

C) abad
D) a,b&c

Q2894742 Change the voice of the following sentence: A tourist finds the Australian sea coast wonderful to
travel.

Score Obtained : -0.25 / 1
A) A tourist finds it wonderful to travel on the Australian sea coast.

B) The Australian sea coast is found to be wonderful to travel by a tourist.

C) For a tourist, the sea coast of Australia is a wonderful travel.
D)_To travel for a tourist the sea coast of Australia is wonderful.

02894936 Fill in the blank with a suitable conjunction :
The offer was tempting that | could not refuse it.

Score Obtained : 1.0/ 1
A) both
B) as
C) also

D)_so
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Score Obtained : 1.0/ 1

A)_GR91a TRITR
B) Q2IEl SRR

) AR

D) PRAIA QIR

02001239 ‘GEYAAQ A ARGERRD REM 68R -

Score Obtained : 1.0/ 1

A)_6gd8 + @
B) 6994 + Q/Q
C) 69/ + @Q
D) 69|98 + L4l

2,

Qw1236 ARG 69K0 TR, 6A0I6Q F'S AAQ GEL?
Score Obtained : 1.0/ 1
A) UQIBQ QRA
B) Q08 4@
C)_qeigl gas!
D) PRAIQ IRITR

02001240 ‘ARENBER 69IR ARNRQ! QGD 2ol @'€1?

Score Obtained : 1.0/ 1
A) 6QHIGQ KGR
B) Q9IQQI0R%! RS

C)_{1g6Q @QQI¢ 2GQ
D) 2% R 6QINRAL]
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A)_6QQ+S)
B) 69Q+4%
C) 689+

D) Qqui+e

Q2897649 QEL)IB FIRIQ Y& QAR QI I8G] QIS

A) GRS
B)_aase
C) G9eR
D) f9a

Q2808804 SPEE RIS Feaa ?

A) 4018 98
B) SI& QIa
C)_ @wane
D) 98¢ a8
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B)_aicigy aaa aid Gai
C) 692 QT g4 AV AT
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D) 9816@eQ a5 el

02897601 QUTA- 69Q 226Q 2! AV QA 621G ?
Score Obt
A) 6QIGHS
B) @aQl
C) A4
D)_ama

Q2897623 QNGO IR AR AL6Q FIQLE 62N 'Y YBYG TR ARTY 92 Aal
Score Obtai

A) 654

B) 6441Q

0)_QIg6aQ

D) 65€Q

Q2897612 AR FRIQ 699 9E YOD ‘A8l IRQ AGEE?
Score Obtai
A)_Q+ol
B) g+¢
C) QUG
D) @+al

02808413 AORA’ 22 ARG QIR CRIRQIATE Q€1 ?

Score Obt
A) 29RQeA
B) eFa1g 9§ 9l
C) ANRQARAUA
D) 29Q @Sl

Q2898421 ‘UPYR’ 99Q FAQIGIACIRIR R 6Q6G?

Score Obt
A) @eR
B) 99ee
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(_3)_ aoee
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Q2897590 ‘LA’ @ AR T6RQ F6M 629 -

A) @+ 9
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C) 6@ + e

D) _se +2e

02897590 ‘@RI’ Q AAIA Fa QQl

A) Q9912
B) @fdIQe
C) &9
D)_9%
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02898415 GEIRAGE 69Q 909 ALIARIS1 98 ‘AQR, 2GR, A0S’ ?

A) 2101
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B) @
C) 99
D) ag

Q2897597 "R6R F16@ QF Q22" 2Ig GOIAYR! QRG] 5T A9

Score Obtained : 1.0/ 1.(

A) P20 YRR 6LQ
B) 60@Y QI§l daal

C)_selea d @ca &
D) 815 Celq /aa!

Aptitude
Q2895697 In a set of 11 numbers, average of the first five numbers is 24 and that of the last five
numbers is 30, If the sum of all the 11 numbers is 320, then what is the value of the 6 number?
Score Obtained : 1.0/ 1.(
A) 70
B) 40
C)_so

D) 60

Q2895688 Population of a country increases by 20% every year. If the present population is 5,76,000,
what was the population two years ago?

Score Obtained : -0.25 / 1.4

A) 4,00,000
B)_4,20,000
C) 4,40,000
D) 4,30,000

Q2895766 Concentration of sulphuric acid reduces from 50% to 30%, when 20 litres of water is added.
What was the total amount of water present in the solution before adding water?

Score Obtained : 0.0 / 1.(

A) 30 litres
B) 10 litres

C) 15 litres

D) 20 litres

Q2895771 Two numbers are in the ratio 3 : 4. If the sum of numbers is 91, what are the numbers?
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A) 75 and 100
B) 42 and 56
C) 40 and 51

D)_39and 52

Q2895736 A man can row 8 kmph in still water. It takes him thrice as long to row up as to row down the river. What is
the speed of the stream?

Score Obtained : 0.0/ 1.

A) 2 kmph
B) 5 kmph

C) 4 kmph

D) 3 kmph

02895721 If 88 girls can do a job in 4 days then 11 girls can do it in how many days?
Score Obtained : 1.0/ 1.
A) 4 days
B) 16 days
g)_32 days
D) 1/2 day

Q2895725 35 men can complete a work in 42 days. How many men can complete the same work in 14
days?

Score Obtained : 1.0/ 1.
A) 140

B)_105
C) 70
D) 90

Q2895602 If the price of lemon decreases by 20%, then by what percentage a householder must
increase the consumption of lemon so that there is on change in expenditure on lemon?

Score Obtained : 1.0/ 1.

A)_2s
B) 45
C) 10
D) 20

02895691 The average age of 26 boys is 18 years. The average age increases by 1.5 year when the age
of their teacher is included. What is the age of their teacher?
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A) 63.5 years
B) 61.5 years

C) 58.5 years
D) 65 years

(2895740 A train passes a standing man in 14 sec, and crosses a bridge of length 143 m in 25 sec. The speed of the
train is
Score Obtained : 0.0/ 1.(

A) 182 m/s
B) 15 m/s

C) 13 m/s

D) 17 m/s

Q2895749 A car travels at an average of 15 km/hr for 2.4 hours and then travels at a speed of 24 km/hr for 1.5 hours.
How far did the car travel in the entire 3.9 hours?

Score Obtained : 0.0/ 1.(

A) 45km

B) 72km

C) 85km
D) 36 km

Q2895712 Teacher A can correct 44 papers in one hour and Teacher B can correct 41 papers in one hour.
Then how many papers will be checked by both of them together in 4 hours?

Score Obtained : -0.25/ 1.(

A) 340
B) 85
C)_185
D) 240

Q2895685 2 bicycles were sold for 990 each and thereby gaining a profit of 10% on one and a loss of
10% on the other. What is the net percentage of loss?

Score Obtained : -0.25/ 1.(

A) 1
B) 2
C) 3
D)_4

02895696 The average weight of 9 items increases by 12 kg when one of them, which weighs 42 kg, is replaced by a
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A) 50 kgs

B)_ISO kgs
C) 100 kgs
D) 200 kgs

Q2895769 Cost of 5 apples is same as the cost of 8 mangoes which is same as the cost of 3
watermelons. What is the maximum number of fruits that you can buy at the cost of 4 watermelons?
[assure that you will buy at least one fruit of each variety]

Score Obtained : 1.0/ 1
A) 10
B)_s

C) 9
D) 11

Mental Ability and Reasoning
02895818 If Pencil is called Pen, Pen is called Eraser, Eraser is called Crayons, then what will you use to

erase anything on paper?
Score Obtained : 1.0/ 1

A) Eraser
B) Pen
C) Paper

D)_Crayons

Q2895807 If GATE is codes as ETAG, then what will be the code for ROAD?
Score Obtained : 1.0/ 1

A) DORO
B) DARO
C) _paor
D) DORA

Q2896301 In the following question, the number in the square brackets is related in some way to the numbers on
either side of it. The numbers in each group are related in the same way. Find the missing number in the last group.

(47 [242] 65) (34 [165] 26) (18 [?] 21)

Score Obtained : 0.0/ 1

A) 149
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B) 132

C) 176
D) 192

Q2896292 |n the following question, a number series is given with one term missing. Choose the correct alternative
that will continue the same pattern and replace the question mark in the given series.
148, 113,79, 46, 14, ?, -47, -76

Score Obtained : 1.0/ 1.0

A) 17
B) -16
C) 0

D) 16

02895849 A, B, C, D and E are distinct positive integers which follow the following conditions:
Ais 1, Bis 4, Cis lesser than B but greater than A. C is equal to the sum of A and D. Difference between E
and D is 3. What is C?

Score Obtained : 1.0/ 1.0

A)_s3
B) 5
0) 1
D) 2

Q2895863 Study the following information carefully and answer the question given below:

Eight Persons J, K, L, M, N, O, P and Q are sitting around a circular table each facing towards the centre. P
is not an immediate neighbour of K. N is an immediate neighbour of M. J is fifth to the left of K. M is not an
immediate neighbour of K and J. M is on the immediate left of P. O is an immediate neighbour of P. L is not
an immediate neighbour of J.

Who amongst the following is sitting between Q and N?

Score Obtained : -0.25/ 1.0
A) M
B) L

(O) N

D) K

02895867 Study the following information carefully and answer the question given below:

Eight Persons J, K, L, M, N, O, P and Q are sitting around a circular table each facing towards the centre. P
is not an immediate neighbour of K. N is an immediate neighbour of M. J is fifth to the left of K. M is not an
immediate neighbour of K and J. M is on the immediate left of P. O is an immediate neighbour of P. L is not
an immediate neighbour of J.

What is the position of M with respect to J?
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A) Second to the left
B)_Third to the right

C) second to the right
D) Fifth to the left

Q2895796 A person moves north for 100 ft and then turns back to travel 200 ft. He then takes a left turn and
travels 50 ft and finally takes another left turn to travel 100 ft and reached his destination. His destination is
in which direction from the starting point?

Score Obtained : 1.0/ 1.

A)_East
B) West
C) North
D) South

02895835 Danny is the brother of David's mother Jennifer. How is David's maternal grandfather related to Danny’
Score Obtained : 1.0/ 1.

A) Son
B) Uncle

g)_Father

D) Brother

Q2895779 Find the next number of the series:
3,5,6,7,9,9,12,11,7

Score Obtained : -0.25/ 1.

A) 13
B) 16
C)
D) 14

Q2895841 Read the following information carefully and answer the question given below:

The sum of the income of A and B is more than that of J and D taken together, the sum of the income of A and | is the same as
that of B and D taken together. A earns half as much as the sum of the income of B and D.

Which of the following statement is NOT correct?

Score Obtained : -0.25/ 1.

A) Bearns more than D

B) Bearns more than
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C) A earns more than B

D)_J earns more than D

Q2895780 Find the next term of the series:
1, 23, 456, 78910, ?
Score Obtained : 0.0/ 1.C
A) 1123456789
B) 1112121314
C) 1112131415
D) 1123414151

(2895821 In a certain code CAMELS is written as BBLFKT, how is HORSES written in that code?

Score Obtained : 1.0/ 1.0

A) GPQRDT
B) GNSTDT
C) GNQTDT

D)_cpratDT

Q2895836 Pointing at Ramesh, Shruti said, "He is the brother of my son's father". What is the relation of the father
of Ramesh with Shruti ?

Score Obtained : 1.0/ 1.C
A) Uncle
B) Son
g)_Father in Law
D) Nephew

Q2895792 Varma recently shifted to a new city. He stepped out of his home in search of a hair salon. He
walked 10 m in north-east direction, then he took a walk for 10 m in the south-east direction. He then turned
135 degrees anti-clock wise, but couldn't find the salon so he turned 225 degrees clock wise and found the

salon in front of him at a distance of 5 m in the same direction. In which direction is the salon located from
his last position?

Score Obtained : 1.0/ 1.C

A)_South—west
B) South-east
C) North-west
D) North-east

General Knowledge
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Q2896866 Which of the following options is the Biography of Kalpana Chawla and is authored by Jean Pierre
Harrison?

Score Obtained : 0.0/ 1.0

A) Dare to Do: For the new generation
B) Flood of fire

C) Edge of Time
D) The Mother | never knew

Q2898453 Which among the following soils develop a crimson colour due to diffusion of iron in crystalline and
metamorphic rocks?

Score Obtained : 0.0/ 1.0
A) Laterite soil
B) Arid soil
C) Sandy sail

D) Red soll

Q2896673 The Kalinga War was fought between the State of Kalinga and the
Score Obtained : 1.0/ 1.0

A) Kushan Empire
B) Maratha Empire
g)_l\/lauryan Empire
D) Mughal Empire

Q2896962 Which one of the following key combinations is used to REDO the previous step, generally in Microsoft Word
or Excel?

Score Obtained : 1.0/ 1.0
A) Crl+R

B) Ctrl+2
C) CTRL+D

D) crru+y

Q2896918 The capital city of Costa Rica is:
Score Obtained : -0.25/ 1.0
A) San Diego

B) San Salvador
C)_San Francisco

D) San Jose

Q2896917 Ottawa is the capital city of which of the following countries?
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A) Canada

B) Iceland
C) Turkey

D) _Jamaica

Q2896714 The Indian Preamble borrowed the ideals of Liberty, Equality and Fraternity from the Constitution of
which of the following countries?

Score Obtained : 1.0/
A) USA

_B)_France

C) United Kingdom
D) Australia

Q2898567 In which year was the Rowlatt Act passed, that was officially known as 'Anarchical and Revolutionary
Crimes Act'?

Score Obtained : 1.0/

A) 1918

B)_1919
C) 1917
D) 1920

Q2896900 Which one of the following options is NOT a feature of North Indian temple architecture?

Score Obtained : -0.25 /

A) Gopuram
B)_Garbhagriha
() Shikhara
D) Mandapa

Q2896890 Hangul, the only species of red deer to be found in India is conserved in which of the following
national parks?

Score Obtained : 0.0 /

A) Manas National Park
B) Namdapha National Park

C) Dachigam National Park
D) Kaziranga National Park

Q2896691 Pattadakal Monuments a wonderful piece of architecture are located near which of the following
cities?
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A) Madurai
B) Kolhapur
C) Betul

D) Bagalkot

Q2896711 As per the Constitution of India the formation of the Council of Ministers starts with the appointment of:

Score Obtained : 1.0/ 1.C

A)_The Prime Minister
B) The Lok Sabha Speaker
C) The Vice-President

D) The President

Q2896931 Devi Ahilya Bai Holkar Award is usually awarded in India to/for which of the following options?

Score Obtained : -0.25/ 1.C

A)_For essays, memoirs, repertory, diary, letter and satire writing
B) For outstanding works in the fields of film direction, acting, script writing
C) To Male artists anly for excellence in tribal, folk and traditional arts

D) To Female artists only for excellence in tribal, folk and traditional arts

Q2896845 The Union Minister for Micro, Small and Medium Enterprises inaugurated the MSME Ministry’s Mega
Event titled "Enterprise India” on 27th April 2022. Identify the name of this minister from the following options.

Score Obtained : -0.25/ 1.C
A) Giriraj Singh
B) Gajendra Singh Shekhawat
C)_Nitin Jairam Gadkari

D) Narayan Rane

02896871 Which of the following river originates at the confluence of the Sengge River and the Gar
River?

Score Obtained : 0.0/ 1.C

A) Indus
B) Zanskar
C) Beas
D) Ravi

Q2896880 River Jhelum is the main waterway of the Kashmir valley. This river is also known by the name:
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A) Vyeth

B) Vipasa

C) Kishan Ganga
D) Sagarmati

Q2896669 The major non-violent protest in India led by M.K Gandhi was the Salt Satyagraha, which is also known as
Score Obtained : 1.0/ 1.0

A) Mutiny of 1857

B) Chipko Movement

Q)_Dandi March

D) Swadeshi Movement

02896965 Which one of the following key combinations is used to close the active application?
Score Obtained : 1.0/ 1.0
A) ALT + Esc

B) CTRL + F1
C) CTRL + End

D) AT+Fa

Q2896837 The debut novel of which of the following Union Ministers of India released in November 2021 is titled
as 'Lal Salaam'?

Score Obtained : 0.0 / 1.C

A) Pratima Bhoumik

B) Smriti lrani

C) Meenakshi Lekhi
D) Bharati Pawar

Q2896829 Which of the following districts in Odisha has been declared as child-marriage free district in January
20227

Score Obtained : 1.0/ 1.0

A)_Ganjam
B) Angul

C) Sonepur
D) Balasore

2896939 The First Arjuna award was given by the Ministry of Youth Affairs and Sports in

Score Obtained : -0.25/ 1.0

A)_1988
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B) 1919
C) 1961

D) 1947

02896704 According to Article 53 in the Constitution of India, the executive power of the Union shall be
vested in

Score Obtained : 1.0/
A) The Council of Ministers
B) The Prime Minister

g)_The President
D) The Chief Justice of India

02896945 As per the IAAF guidelines, how many events are there in Heptathlon?
Score Obtained : 1.0/
A) 5events

_B)_? events
C) 6 events
D) 8 events

Q2896846 As of June 2022, the Ministry of Women and Child Development in India is headed by:
Score Obtained : 1.0/

A)_Smriti Zubin Irani

B) Meenakshi Lekhi
C) Bharati Pravin Pawar
D) Nirmala Sitharaman

02896875 River Nubra originates from which glacier?
Score Obtained : 0.0/

A) Penzella

B) Ssiachen
C) Rimo

D) Kali Kundi

02896688 As per the 2021 State of Forest Report, which of the following states in India has the Largest
Mangrove Cover?

Score Obtained : -0.25 /

A) Odisha
B)_Tamil Nadu
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C) Karnataka
D) West Bengal

2896894 The Bandipur National Park, a natural habitat for four-norned antelopes (Chousingha) is located in
which of the folllowing states of India?

Score Obtained : 1.0/

A) Haryana
B) Goa

g)_Karnataka
D) Kerala

Q2896968 Which of the following OS has a native virtual assistant called 'Cortana’ ?
Score Obtained : 0.0 /
A) i0S 15

B) windows 10
C) Android 11
D) Mac OS X 10

02896859 Which of the following options is INCORRECTLY matched with respect to the books and their
authors?

Score Obtained : 0.0 /
A) A Century is Not Enough - Sourav Ganguly
B) Imperfect - Sanjay Manjrekar

C) Citizen Delhi: My Times, My Life - Dr. Samir Sharma
D) The Diary of a Domestic Diva - Shilpa Shetty

02896924 Which of the following options is currency of United Arab Emirates (UAE)?

Score Obtained : -0.25 /

A) Dirham
B) Dollar
C) Rupee
D) _Pound
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